
l;=g+= :yfg s}lkmot

1 cf>fª  -xfn afudtL ufpkflnsf_                                                    k|lt /f]kgL ?=

s_ slRr ;8s          165,000.0

v_ uf]/]6f] af6f]                      55,000.0

u_ v]ttkm{                                    45,000.0

3_ kfvftkm{                           15,000.0

2 O{s'8f]n  -xfn afudtL ufpkflnsf_ k|lt /f]kgL ?=

s_ slRr ;8s          165,000.0

v_ uf]/]6f] af6f]                                                 55,000.0

u_ v]ttkm{                                                     45,000.0

3_ kfvftkm{                                                     15,000.0

3 O{df8f]n -xfn dxfnIdL gu/kflnsf_       
k|lt ju{ ld^/-j*f 

g+=5,6,7,8,9_

k|lt ju{ ld^/-j*f 

g+=1,2,3,4_

s_ d'n lkr;8s                                              45,000.0 35,000.0

v_ ;xfos lkr;8s                                          30,000.0 25,000.0

u_ slRr ;8s                                               25,000.0 20,000.0

3_ uf]/]6f] af6f]                                                13,000.0 10,000.0

ª_ af6f] gePsf]                                               9,000.0 7,000.0

4 lsl6gL -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                              600,000.0

v_ ;xfos lkr;8s                                                    350,000.0

u_ slRr ;8s                                                250,000.0

3_ uf]/]6f] af6f]                                                 120,000.0

ª_ af6f] gePsf]                                                60,000.0

5 vf]sgf  -xfn dxfgu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                              520,000.0

v_ ;xfos lkr;8s                                                 350,000.0

u_ slRr ;8s                                               250,000.0

3_ uf]/]6f] af6f]                                              120,000.0

ª_ af6f] gePsf]                                             60,000.0

6 uf]bfdrf}/-xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

cf=j=075.76 sf] nflu hUufsf] Go'gtd 

d'Nof+sg
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s_ d'n lkr;8s                                              400,000.0

v_ ;xfos lkr;8s                                          300,000.0

u_ slRr ;8s                                               250,000.0

3_ uf]/]6f] af6f]                                                 120,000.0

ª_ af6f] gePsf]                                               60,000.0

7 3';]n -xfn afudtL ufpkflnsf_ k|lt /f]kgL ?=

s_ df]6/af6f]                                                 250,000.0

v_ uf]/]6f] af6f]                                               150,000.0

u_ v]ttkm{                                                   60,000.0

3_ kfvftkm{                                                  25,000.0

8
rfkfufpF -xfn uf]bfj/L gu/kflnsf_

k|lt cfgf -j*f 

g+=1,2,3,45,6,7,_

k|lt cfgf-j*f g+=8 

/ 9_

s_ d'n lkr;8s                                              800,000.0 700,000.0

v_ ;xfos lkr;8s                                          600,000.0 500,000.0

u_ slRr ;8s                                                400,000.0 350,000.0

3_ uf]/]6f] af6f]                                                250,000.0 200,000.0

ª_ af6f] gePsf]                                                120,000.0 100,000.0

9 rf}3/] -xfn sf]Ghof];d ufpkflnsf_ k|lt /f]kgL ?=

s_ lkr;8s                                                   350,000.0

v_ slRr ;8s                                                  200,000.0

u_ uf]/]6f] af6f]                                                    120,000.0

3_ v]ttkm{                                                       60,000.0

ª_ kfvftkm{                                                       35,000.0

10 5DkL -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_  lkr;8s                                                400,000.0

v_ slRr ;8s                                                250,000.0

u_ uf]/]6f] af6f]                                                  120,000.0

3_ af6f] gePsf]                                               70,000.0

11

b]jLrf}/-;fljs 5DkLaf6 6'qm]sf]_-xfn 

uf]bfj/L gu/kflnsf_                       k|lt /f]kgL ?=
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s_ df]6/af6f]                                                     800,000.0

v_ uf]/]6f] af6f]                                                   400,000.0

u_ v]ttkm{                                                       250,000.0

3_ kfvftkm{                                                       120,000.0

12 em?jf/fzL-xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                            500,000.0

v_ ;xfos lkr;8s                                          300,000.0

u_ slRr ;8s                                                 250,000.0

3_ uf]/]6f] af6f]                                                  120,000.0

ª_ af6f] gePsf]                                                60,000.0

13
l6sfynL -xfn dxfnIdL gu/kflnsf_

k|lt cfgf ? j*f 

g+=1,2,4,5,6_

k|lt cfgf ?=  -

j*f g+=8,9,3,7_

s_ d'n lkr;8s                                             800,000.0 650,000.0

v_ ;xfos lkr;8s                                          700,000.0 550,000.0

u_ slRr ;8s                                               525,000.0 450,000.0

3_ uf]/]6f] af6f]                                                250,000.0 200,000.0

ª_ af6f] gePsf]                                               140,000.0 120,000.0

14 7]rf] -xfn uf]bfj/L gu/kflnsf_

k|lt cfgf ?=-j*f 

g+=1,2,4,5,7,8,9_

k|lt cfgf ?=-j*f 

g+= 3,6_

s_ d'n lkr;8s                                             900,000.0     800,000.0    

v_ ;xfos lkr;8s                                          600,000.0     500,000.0    

u_ slRr ;8s                                                425,000.0     375,000.0    

3_ uf]/]6f] af6f]                                                 250,000.0     170,000.0    

ª_ af6f] gePsf]                                               120,000.0     90,000.0     

15

7}j -xfn uf]bfj/L gu/kflnsf_
k|lt cfgf ?= -j*f 

g+=5,7,8,9_

k|lt cfgf ?= -j*f 

g+=1,2,3,4,6_

s_ uf]bffj/L hfg] d'n lkr;8s                                700,000.0     600,000.0    

v_ cGo lkr;8s                                             500,000.0     400,000.0    

k'gZrM d"n lkr ;8s O{df8f]n af6 ;fljs l6sfynL uf=la=;= ejg hfg] ;8s / jfns'df/L b]lv v/Ljf]6 hfg] ;8s
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u_ slRr ;8s                                                350,000.0     300,000.0    

3_ uf]/]6f] af6f]                                                 170,000.0     120,000.0    

ª_ af6f] gePsf]                                                100,000.0     70,000.0     

16 8's'5fk -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ df]6/af6f]                                                     160,000.0     

v_ uf]/]6f] af6f]                                                   120,000.0     

u_ v]ttkm{                                                       55,000.0      

3_ kfvftkm{                                                     40,000.0      

17

wfkfv]n  -xfn dxfgu/kflnsf_
k|lt cfgf ?=-j*f 

g+=1,2,8,9_

k|lt cfgf ?=-j*f 

g+=3,4,5,6,7_

s_ d'n lkr;8s                                              800,000.0     700,000.0    

v_ ;xfos lkr;8s                                          650,000.0     600,000.0    

u_ slRr ;8s                                                450,000.0     400,000.0    

3_ uf]/]6f] af6f]                                                250,000.0     175,000.0    

ª_ af6f] gePsf]                                                120,000.0     100,000.0    

18

gNn' -j8f g+=$ dfq_-xfn sf]Ghof];d 

ufpkflnsf_

k|lt /f]kgL ?=

s_ df]6/af6f]                                                    250,000.0     

v_ uf]/]6f] af6f]                                                   120,000.0     

u_ v]ttkm{                                                       55,000.0      

3_ kfvftkm{                                                      30,000.0      

gNn' -cGo j8fx?_            -xfn 

sf]Ghof];d ufpkflnsf_ k|lt /f]kgL ?=

s_  lkr;8s                                                  400,000.0     

v_ slRr ;8s                                                   200,000.0     

u_ uf]/]6f] af6f]                                                    120,000.0     

3_ v]ttkm{                                                      70,000.0      

ª_ kfvftkm{                                                       40,000.0      

19 Ko'6f/ -xfn afudtL ufpkflnsf_ k|lt /f]kgL ?=

s_ df]6/af6f]                                                     250,000.0     
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v_ uf]/]6f] af6f]                                                    120,000.0     

u_ v]ttkm{                                                       70,000.0      

3_ kfvftkm{                                                       35,000.0      

20 jl8v]n -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                              400,000.0     

v_ ;xfos lkr;8s                                           300,000.0     

u_ slRr ;8s                                                 250,000.0     

3_ uf]/]6f] af6f]                                                  100,000.0     

ª_ af6f] gePsf]                                                55,000.0      

21 jfF8]ufpF -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                             650,000.0     

v_ ;xfos lkr;8s                                          400,000.0     

u_ j8f g+=! sf] slRr ;8s    320,000.0     

3_ cGo j8fsf] slRr ;8s                                     290,000.0     

ª_ uf]/]6f] af6f]                                                  135,000.0      

r_ af6f] gePsf]                                                90,000.0      

22 lji65fk -xfn uf]bfj/L gu/kflnsf_ k|lt cfgf ?=

s_ lkr;8s 350,000.0     

v_j8f g+=& / *sf] slRr ;8s                                                                         250,000.0     

u_ cGo j8fsf] slRr ;8s                                     175,000.0     

3_ uf]/]6f] af6f]                                                120,000.0     

ª_ af6f] gePsf]                                                70,000.0      

5_ pkTosf jflx/ kg{] hUUff                                      k|lt cfgf ?=

– df]6/ af6f] ePsf] 90,000.00     

– uf]/]6f] af6f] 45,000.00     

– cGo hUuf 25,000.00     

23 aF'udtL  -xfn dxfgu/kflnsf_                              k|lt cfgf ?=

s_ d'n lkr;8s                                              550,000.0     

v_ cGo lkr;8s                                             350,000.0     

u_ slRr ;8s                                               250,000.0     
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3_ uf]/]6f] af6f]                                                 150,000.0     

ª_ j8f g+=# afx]s af6f] gePsf]                            70,000.0      

r_ j8f g+=# sf] af6f] gePsf]                              55,000.0      

24 e§]8fF8f -xfn afudtL ufpkflnsf_ k|lt /f]kgL ?=

s_ sflGtnf]skynfO{ 5'g] hUuf 550,000.0     

v_ cGo df]6/af6f]                                                     250,000.0     

u_ uf]/]6f] af6f]                                                  120,000.0     

3_ v]ttkm{                                                       45,000.0      

ª_ kfvftkm{       25,000.0      

25 ef/b]p -xfn sf]Ghof];d ufpkflnsf_ k|lt /f]kgL ?=

s_ lkr;8s                                                   400,000.0     

v_ slRr ;8s                                                250,000.0     

u_ uf]/]6f] af6f]                                                   175,000.0     

3_ v]ttkm{                                                       70,000.0      

ª_ kfvftkm{                                                      35,000.0      

26 dfN6f -xfn afudtL ufpkflnsf_ k|lt /f]kgL ?=

s_ df]6/af6f]                                                     300,000.0     

v_ uf]/]6f] af6f]                                                   100,000.0     

u_ v]ttkm{                                                       70,000.0      

3_ kfvftkm{                                                      35,000.0      

27 n]n] -xfn uf]bfj/L gu/kflnsf_                                    k|lt cfgf ?=

s_ lkr;8s                                                   300,000.0     

v_ slRr ;8s                                                150,000.0     

u_ uf]/]6f] af6f]                                                 90,000.0      

3_ af6f] gePsf]                                               55,000.0      

28 nfdf6f/-xfn dxfnIdL gu/kflnsf_ k|lt cfgf ?=

s_ d'n lkr;8s                                             500,000.0     

v_ ;xfos lkr;8s                                          350,000.0     

u_ slRr ;8s                                                 200,000.0     

3_ uf]/]6f] af6f]                                                 100,000.0     
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ª_ af6f] gePsf]                                                60,000.0      

nfdf6f/-nfFs'/L eHofª jflx/ kg{]_-

xfn dxfnIdL gu/kflnsf_ k|lt cfgf ?=

s_ slRr ;8s                                                  50,000.0      

3_ uf]/]6f] af6f]                                                  25,000.0      

ª_ af6f] gePsf]                                                  15,000.0      

29 n'e' -xfn dxfnIdL gu/kflnsf_ k|lt cfgf ?=

s_ n'e' gu/ ljsf; cfof]hgfsf 

ljsl;t 38]/L 700,000.0     

v_ d'n lkr;8s                                             550,000.0     

u_ ;xfos lkr;8s                                          400,000.0     

3_ slRr ;8s                         250,000.0     

ª_ uf]/]6f] af6f]                                                 150,000.0     

r_ af6f] gePsf]                                               100,000.0     

30

;fgfufpF-xfn dxfnIdL gu/kflnsf_ 
k|lt cfgf ?= -j*f 

g+=1,2,7,8,9_

k|lt cfgf ?=-j*f 

g+=3,4,5,6_

s_ n'e' hfg] d'n lkr;8s                                     650,000.0     550,000.0    

v_ cGo lkr;8s                                             500,000.0     450,000.0    

u_ slRr ;8s                                               400,000.0     350,000.0    

3_ uf]/]6f] af6f]                                                250,000.0     175,000.0    

ª_ af6f] gePsf]                                                120,000.0     90,000.0     

31

;'gfsf]7L -xfn dxfgu/kflnsf_
k|lt cfgf ?= -j*f 

g+=1,2,8,9_

k|lt cfgf ?=-j*f 

g+=3,4,5,6,7_

s_rfkfufpF hfg] d'n lkr;8s                                1,000,000.0    900,000.0    

v_ cGo lkr;8s                                             600,000.0     550,000.0    

u_ slRr ;8s                                               450,000.0     400,000.0    

3_ uf]/]6f] af6f]                                                250,000.0     200,000.0    

ª_ af6f] gePsf]                                                120,000.0     90,000.0     
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32

;}+j'-e};]kf6L_ -xfn dxfgu/kflnsf_
k|lt cfgf ?=-j*f 

g+=2,3,4,5,6,8_

k|lt cfgf ?=-j*f 

g+=1,7,9_

s_ ;}+a' cfjf; If]qsf] ljsl;t 38]/L                                                    
1,600,000.0    1,500,000.0   

v_ d'n lkr;8s                                              1,000,000.0    950,000.0    

u_ ;xfos lkr;8s                                          700,000.0     650,000.0    

3_ slRr ;8s                                                500,000.0     450,000.0    

ª_ uf]/]6f] af6f]                                                300,000.0     250,000.0    

r_af6f] gePsf]                                                200,000.0     150,000.0    

33

xl/l;l4  -xfn dxfgu/kflnsf_
k|lt cfgf ?= -j*f 

g+=1,2,5,6,7,8,9_

k|lt cfgf ?=-j*f 

g+=3,4_

s_ d'n lkr;8s                                             850,000.0     700,000.0    

v_ ;xfos lkr;8s                                          700,000.0     600,000.0    

u_ slRr ;8s                                               550,000.0     450,000.0    

3_ uf]/]6f] af6f]                                                300,000.0     250,000.0    

ª_ af6f] gePsf]                                                110,000.0     90,000.0     

34

nlntk'/ pk=d=g=kf= -xfn 

dxfgu/kflnsf_

j8f g+= ! k|lt cfgf ?=

s'k08f]n nugv]n ;8s;Fu

hf]l8Psf bfofFjfofF d'n lkr

hf]l8Psf] hUuf

3,300,000.0    

Ogf/ b]lv kf6g9f]sf;Ddsf] lkr

;8s;Fu hf]l8Psf] hUuf
1,600,000.0    

s'k08f]n ;fg]kf x'b} k'/fgf]

zfGtejg;Dd lkr ;8s;Fu

hf]l8Psf] hUuf 

1,300,000.0    

jfUdtL kmfF6 hUuf Plss/0f

cfof]hgfsf] ljsl;t 38]/L 
1,100,000.0    
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cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,000,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 650,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 400,000.0     

Aff6f]gePsf] cGo hUuf 250,000.0     

Jf8f g+= @-rqmky leq–jflx/_ k|lt cfgf ?=

s'k08f]n k'/fgf] zfGtefjg ;fg]kf / 

k'Nrf]s emdl;v]n d'n;8s;Fu  

hf]l8Psf] hUuf

1,300,000.0    

cGo lkr;8s;Fu hf]l8Psf] hUuf 1,100,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 700,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Rfqmky leq aflx/ tf/jf/;Fu 

hf]l8Psf] hUuf
1,900,000.0    

Aff6f] gePsf] cGo hUuf 250,000.0     

Jf8f g+= #  rqmky leq_ k|lt cfgf ?=

s'k08f]n nugv]n ;8s;Fu 

hf]l8Psf bfofFjfofF d'n lkr 

hf]l8Psf] hUuf

3,300,000.0    

s'k08f]n hfjnfv]n d'n lkr 

;8s;Fu hf]l8Psf] afx]scGo lkr 

;8s ;Fu hf]l8Psf] hUuf

1,100,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 700,000.0     

Rfqmky leq aflx/ tf/jf/;Fu 

hf]l8Psf] hUuf
1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] rqmky leqsf] hUuf 250,000.0     

Aff6f] gePsf] rqmky aflx/sf] hUuf 150,000.0     

j8f g+= # rqmky jflx/ k|lt cfgf ?=

lkr jf6f] ;Fu hf]l8Psf] hUufx? 1,000,000.0    
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slRr ;8s;Fu hf]l8Psf] hUuf 650,000.0     

Rfqmky aflx/ tf/jf/;Fu hf]l8Psf] 

hUuf
1,900,000.0    

uf]/]6f] jf6f] ;Fu hf]l8Psf] hUufx? 275,000.0     

jf6f] gePsf] hUufx? 150,000.0     

Jf8f g+= $ -rqmky leq_ k|lt cfgf ?=

s'k08f]n nugv]n ;8s;Fu 

hf]l8Psf bfofFjfofF d'n lkr 

hf]l8Psf] hUuf

3,300,000.0    

s'k08f]n hfjnfv]n d'n lkr 

;8s;Fu hf]l8Psf] afx]scGo lkr 

;8s;Fu hf]l8Psf] hUuf

1,100,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 700,000.0     

Rfqmky leq aflx/ tf/jf/;Fu 

hf]l8Psf] hUuf
1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 175,000.0     

Jf8f g+=$-rqmky aflx/ $k afx]]s_ 
k|lt cfgf ?=

gVv'tkm{ hfg] d'n lkr hf]l8Psf] 

hUuf
900,000.0     

cGo lkr ;8s;Fu hf]l8Psf] hUuf 750,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 550,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 275,000.0     

Aff6f] gePsf] / cGo hUuf 150,000.0     

Jf8f g+= $k -rqmky aflx/_ k|lt cfgf ?=

cGo lkr ;8s;Fu hf]l8Psf] hUuf 550,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 350,000.0     
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Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 200,000.0     

Aff6f] gePsf] / cGo hUuf 120,000.0     

Jf8f g+= % -rqmky leq_ k|lt cfgf ?=

s'k08f]n nugv]n ;8s;Fu 

hf]l8Psf bfofFjfofF d'n lkr 

hf]l8Psf] hUuf

3,300,000.0    

s'k08f]n hfjnfv]n d'n lkr 

;8s;Fu hf]l8Psf] afx]s cGo leq 

;8s;Fu hf]l8Psf] hUuf

1,300,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 750,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 250,000.0     

Jf8f g+= % -rqmky aflx/ j8f g+= 

%o, %/, %x, %n, %q / %1_
k|lt cfgf ?=

lkr ;8s;Fu hf]l8Psf] hUuf 600,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 400,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 250,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

uf]bfj/L hfg] d"n ;8sn] 5f]Psf] 1,100,000.0    

Jf8f g+= % -rqmky aflx/ %o, %/, 

%x, %n, %q / %1 jfx]s_
k|lt cfgf ?=

rfkfufpF tkm{ /  uf]bfj/L tkm{  hfg]  

lkr ;8s;Fu / cGo lkr ;8s;Fu 

hf]l8Psf] hUuf

1,200,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 750,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 650,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    



l;=g+= :yfg s}lkmot
cf=j=075.76 sf] nflu hUufsf] Go'gtd 

d'Nof+sg

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 275,000.0     

Aff6f] gePsf] / cGo hUuf 250,000.0     

Jf8f g+= ^ -rqmkyleq_ k|lt cfgf ?=

Nfugv]naf6 k|ofu kf]v/L x'Fb} Ujfsf{] 

;Ddsf]] d'n lkr hf]l8Psf] hUuf
1,400,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,000,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 700,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 300,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

Jf8f g+= ^ -rqmky aflx/_  k|lt cfgf ?=

lkr ;8s;Fu hf]l8Psf] hUuf 825,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 550,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

Jf8f g+= & -rqmky leq aflx/_ 
k|lt cfgf ?=

k|ofukf]v/Laf6 Ujfsf{] xF'b} sd{gf;f 

vf]nf k'n;Ddsf kLr ;8s;Fu 

hf]l8Psf] hUUff 

1,400,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,000,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 600,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

Jf8f g+= * -rqmky leq aflx/_ k|lt cfgf ?=



l;=g+= :yfg s}lkmot
cf=j=075.76 sf] nflu hUufsf] Go'gtd 

d'Nof+sg

Eff]nf9f]sfaf6 afns'df/L dlGb/ xF'b} 

sd{gf;f k'n;Ddsf]  d"n kLr 

;8ssf] bfFof jfFof hf]l8Psf] hUUff 

1,400,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 950,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 600,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

    Jf8f g+= ( -rqmky leqaflx/_  
k|lt cfgf ?=

Rof;naf6 afns'df/L dlGb/ xF'b} 

rqmky aflx/ sd{gf;fvf]nf 

k'n;Ddsf]  d"n kLr ;8ssf] bfFof 

jfFof hf]l8Psf] hUUff 

1,400,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,000,000.0    

s[i0fdlGb/af6 z+vd'n hfg] kLr 

df]6/af6f] ;Fu hf]l8Psf] hUuf
825,000.0     

slRr ;8s;Fu hf]l8Psf] hUuf 550,000.0     

Rfqmky tf/jf/;Fu hf]l8Psf] hUuf 1,900,000.0    

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] / cGo hUuf 200,000.0     

Jf8f g+= !@ df k|lt cfgf ?=

d'n lkr ;8s;Fu hf]l8Psf 

bfofFjfofF 5'g]  hUuf
3,300,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,400,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 650,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 400,000.0     

Aff6f] gePsf] cGo hUuf 275,000.0     

Jf8f g+= !# df k|lt cfgf ?=



l;=g+= :yfg s}lkmot
cf=j=075.76 sf] nflu hUufsf] Go'gtd 

d'Nof+sg

d'n lkr ;8s;Fu hf]l8Psf 

bfofFjfofF 5'g]  hUuf
3,300,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,400,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 700,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 400,000.0     

Aff6f] gePsf] cGo hUuf 300,000.0     

Jf8f g+= !% df k|lt cfgf ?=

lkr ;8s;Fu hf]l8Psf hUuf 1,400,000.0    

jfUdtL kmfF6 hUuf Plss/0f 

cfof]hgfsf] ljsl;t 38]/L
1,100,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 750,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 400,000.0     

Aff6f] gePsf] cGo hUuf 200,000.0     

Jf8f g+= !( df kg{] k|lt cfgf ?=

d'n lkr ;8s;Fu hf]l8Psf 

bfofFjfofF  hUuf
3,300,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,400,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 825,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 350,000.0     

Aff6f] gePsf] cGo hUuf 300,000.0     

Jf8f g+= @) df  k|lt cfgf ?=

d'n lkr ;8s;Fu hf]l8Psf 

bfofFjfofF 5'g]  hUuf
3,300,000.0    

cGo lkr ;8s;Fu hf]l8Psf] hUuf 1,400,000.0    

slRr ;8s;Fu hf]l8Psf] hUuf 825,000.0     

Uff]/]6f] af6f];Fu hf]l8Psf] hUuf 400,000.0     

Aff6f] gePsf] cGo hUuf 300,000.0     

k'gZrM



l;=g+= :yfg s}lkmot
cf=j=075.76 sf] nflu hUufsf] Go'gtd 

d'Nof+sg

@)#* ;fnsf] gfkL cg';f/ ju{ 

v'n]sf] k|lt cfgf ?=

s au{ 1,600,000.0    

v au{ 1,400,000.0    

u au{ 1,300,000.0    

3 au{ 900,000.0     

ª au{ 550,000.0     

r au{ 300,000.0     

j8f g+=^, &, *, (, !), !!, !@, !#, !$, !%, !( / @) j8fx?df @)@# ;fnsf] gfkL / 

gofF gfkL b'j} kg{] xF'bf @)#* sf] gofF gfkLdf kg{] hUUff gfkL s} jlu{s/0f cg';f/  ju{ 

adf]lhd g} d'No sfod x'g] . 


